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PROBLEM 1: . (35 points)
The assembly is subjected to the threeforces shown, where 0 <a < 180° .

a If a= 30°, what is the value of the force F that makes the resultant FR as small as
possible? Calculate then the magmtude of Fr.

b. If F=16.1245 kN, what is the value of the angle a that makes the resultant FR as
small as possible? Calculate then the magmtude of Fr.
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PROBLEM 2: (35 poihts)

Collar A shown in the figure ¢an slide on a fnctlonless vertlcal rod and is attached as shown to

- a spring. The constant of the sprmg is 600 N/m, and the sprmg is unstretched ‘when h = 300

mm. Knowing that the system is in equilibrium when 4 = 400 mm:
a. Determine the weight of the collar. - e T
b. Determine the tension in cablé 4B.
c. Determme the normal reaction exerted by the Vert1ca1 rod on the collarA
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PROBLEM 3: (30 points)

Detefmine the vector expression for the moment My of the 600-N force about point 0.
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